40 mm



4
TMIS/CTC

6 l1h 30 min

3
TMIS/CTC

5 l1h 30 min



N A W N =

O o0 9 &

1.A

I m

B

40 mm

60 km/h

2m

50 mm



2.B

3.C

120 min

180 min

90 min



10

11

12

1.1

13

1.2



14

15

16

17

1.1

1.1

1.1

40 mm

35 km/h

45 km/h

45 km/h
60 km/h
60 km/h

60 km/h




35 km/h

45 km/h 4h
60 km/h
60 km/h 24 h
1
1.
2.
3 15 km/h 25 km/h
45 km/h 12h
4. 60 km/h
5.
2.
6
40 mm 15 km/h 25 km/h
45 km/h 4h 60 km/h
7. 24 h
1.
2. 45 km/h
3.
60 km/h
4.
1.
40 mm 45 km/h
2.
60 km/h
3.
1.
2.
3 25 km/h
50 mm 45 km/h 60 km/h
4. 24 h
5.
L. 45 km/h
2.
3.
4.




25 km/h

45 km/h
60 km/h
45 km/h
45 km/h
45 km/h 12h 60 km/h
24h
35 km/h
45 km/h 60 km/h
60 km/h
45 km/h
60 km/h
18
Vmax 45 km/h
Vmax=45 km/h
1 1/3
2
3 6 1
4
2 800 m 1
6
3 800 m 2
1
4
6 200
200
19




